o
[N

= C
© L
e[ 1< SERERR-SERR A
S o
S0 Ji| STTEERN SETTIRRF S
v E

................

100,

QT T

-2 -1

0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
[N
[¢)]

o
N

k-

4

-1

0 1 2 3
TP n (PCA to beamline)

(23 e ]
o O

< 00, > (M)
D
o

20

1006

RatioI

(k=]

TP n (PCA to beamline)

<0 / > (Y
PP, > (70)
O = N W N O

Ratio
N

iy

%)

3

(oS R R I LR R RNl RRR L RRRRN LR AR R AR RARRN LRRL

0 T 2 3
TP n (PCA to beamline)

= 100

RatioI
P
a1

iy

k
4
s Wb AAIERAARAARIIAANAE RARITNARARAR IR o PP
4 H
-

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time__RECO
C : 1] : il
- ] g i g 11 S
ST W
SRR SN
R |li(&: Ttk
F . £
E : "
Co BB b bl o b b GULULY LUK bl bR o
o : 1 P
E i ;
1 4. . [
3 -2 -1 0 1 2 3

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


